Subject: Re: Integer - decimal help
Posted by on Tue, 25 Aug 2009 15:24:31 GMT

View Forum Message <> Reply to Message

Thanks for your answer Jean, but the for loop | mentioned is a part of
my program and | have to use that solution inside the for loop. At my
first trial, | used that solution outside the for loop and I got both

a and b zero.

Nusret

wrote:

> Nusret Seving wrote:

>> Uh, | see that | made a mistake with my 'for loop'. Now the first
>> solution works. Thank you very much Marteen.

>

>> Nusret
You don't need a for loop here:

IDL>a =[1.2, 3.4, 5.6]
IDL> b = floor(a)
IDL>c = a-b
IDL> print,b
1 3 5
IDL> print,c
0.200000 0.400000 0.600000
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Jean
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